A2

She than her sister.
Answer:

This dress is than the other one.
Answer:

These shoes are than the black ones.
Answer:

He than his friends.
Answer:

The blue bag is than the red one.
Answer:

That phone is than mine.
Answer:

Our car is than theirs.
Answer:

Her hair is than mine.
Answer:

He than his brother.
Answer:

This smartphone is than the previous model.
Answer:




Answers

She than her sister.
Answer: is younger

This dress is than the other one.
Answer: cheaper

These shoes are than the black ones.
Answer: more expensive

He than his friends.
Answer: is taller

The blue bag is than the red one.
Answer: bigger

That phone is than mine.
Answer: more expensive

Our car is than theirs.
Answer: faster

Her hair is than mine.

Answer: longer

He than his brother.
Answer: is stronger

This smartphone is than the previous model.
Answer: more advanced



